Temperature Conversion
To convert between Fahrenheit (°F) and degrees Celsius (°C):
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Where: TC is temperature in Celsius

Tf is temperature in Fahrenheit

To convert between degrees Fahrenheit (°F) and Kelvin (K):
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Where: Tf is temperature in Fahrenheit

T, is temperature in Kelvin

To convert between degrees Fahrenheit (°F) and Rankine (R):

Tf = TR — 459.67

TR = Tf + 459.67

Where: Tf is temperature in Fahrenheit

TR is temperature Rankine



To convert between degrees Celsius (°C) and Kelvin (K):
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Where: TC is temperature in Celsius

TK is temperature in Kelvin
To convert between degrees (°C) and Rankine (R):

T.= = x ((T, — 459.67) — 32)

T, = (¥ x T, + 32) +450.67

Where: TC is temperature in Celsius

TR is temperature in Rankine

To convert between degrees Kelvin (K) and Rankine (R):

T, = (— X ((TR — 459, 67) - 32))+ 273.15

T = (i x (T, - 273.15) + 32) + 459.67

Where: TK is temperature in Kelvin

TR is temperature in Rankine



